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SOLVE THE PROBLEMS AND CHOOSE THE CORRECT OPTIONS.
1) ONE HUNDRED THIRTY SIX TIMES SEVEN IS:

A: It's seven hundred ninety one

B: It's one hundred three

C: It's nine hundred fifty two

A: it's seventy

B: it's two hundred seven

C: it's five hundred fifty five

3) NINE HUNDRED SEVENTEEN DIVIDED BY SEVEN 1IS:

A: It's one hundred thirteen
B: It's zero

C: It's one hundred thirty one
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: 2) SEVEN HUNDRED NINETEEN MINUS FIVE HUNDRED TWELVE IS:
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4 }) THREE HUNDRED NINETY FIVE PLUS FIVE HUNDRED FIFTEEN IS:

b

A: it's nine hundred ten
B: it's nine hundred forty five

C: it's nine hundred one

WRITE THE QUANTITIES IN ENGLISH.

A: 397

B: 213

C: bl4

D: 405
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